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9. 7(x) = Jim, W
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53. yis differentiable for all x # —3.
At (-3, 0) the graph has a node.

55. y is differentiable for all x # 3.
At (3, 0) the graph has a cusp.

57. yis differentiable for all x # +2.
The function is not defined at x = +2.




image1.png
7. The slopeis m = 1.

8. Theslopeis m = 4.
1
L

10. The slopeis m =
13. 2005: m ~ 119
2007: m ~ 161
The slope is the rate of change of revenue at the given
point in time.
14. 2006: m ~ 250
2008: m ~ 100
The slope is the rate of change of sales at that point
in time.
15. t=3m=~9
t=T7m=~0
t=10:m ~ -10
The slope is the rate of change of the average
temperature at the given point in time.
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16. (a) At 4. f'(t;) > g'(#;). so the runner given by fis
running faster.
() At £y, g'(t;) > f(t,). so the runner given by g is

running faster. The runner given by fhas traveled
farther.

(c) At ty, the runners are at the same location, but the
runner given by g is running faster.

(d) The runner given by g will finish first because that
runner finishes the distance at a lesser value of £.
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